EREIII BET 2023 & 11 8208

7.1, RO 2 = f(z,y) ITD2WVWT, lim  f(z,y) 3FEST 220X FETIHEEFZDMEEZRD X,

(z,y)—(0,0)
oy = Ty o) = TV gy — S0+ y?)
Y
po) = 4 TS (x #0) o) = (22 4 g2
4) flxz,y) { 0% (=0 6) flz.y) = (=" +y7)

B 7.2, f D TERS N 2 = f(P) 28 Py THAET, f(Po) > 07451 Py D §ikE U BHEEL T,
PeDH»P2PeURBIEf(P)>0rk5Ir% el imiEtAVTRE,

Bl 7.3. RO 2z = f(x,y) DERICHBT 2 WM AIHENE. &M ATREMEZ X X,

(1) f(z,y) =[xyl 2) flay) =Vt +y
stan~t Y (z #£0)
(3) flz,y) = zytan a2 +y? 4) flzy) = 0 % (@=0)
M 7.4. ROBEBERBIE X, £ 2 XIS EZRD X,
YT _ 2,2 _ — =Y
(1) z=a% (2) z=log(l—az°—y*) (3) z=log,y (4) z=tan pry
\jz . m+nf
B 7.5 RO 2 = f(z,y) D m(w,y) ZRD Ko
(1) flz,y) = e** cosby (2) f(z,y) =sin(z —y) B) flzy)=0+z+y)"
B 7.6. ROBBRED 2,2, ZKRD K,
(1) z=uazy, x=sin""(w), y=cos *(uv) (2) z=tan! %, x =sinu, y=sinv

B3 7.7 2= f(a,9) B C* . 2= o(t),y =) Dt D C?* T D L &, 2 = f(P(t), (1)) ITDOWTRERE,

d2
L s (0 4 22,0 (O (1) + 20 (0 + 20 (0) + 58"
B 7.8. ROBEK 2 = f(x,y) & n =2 DEFAEI Taylor DEHEZHEHAL T, f(zx+h,y+k) % hk0(0<0<1)

ZHWTERE,

(1) 2= f(z,y) = (az + by)* (2) 2= f(z,y) = e*sinfy
§ e o dy d?y , .
B 7.9. XOEXTEDOLNS x DEERE y IOV T I da? R X,
(1) 2°4+y*—3axy=0 (2)  log/a2?+y2? =tan? Yy
x
cx? 2 22 " AU .
B 7.10. 3 ateta= 1 TEE 3 x,y DR 2 IOV TZDREHE 2, 2, KD X,
B3 7.11. R 22+ 2 + 2% = a?, 22 + 9% = 200 TEZF 2 = OREEK y, 2 1ITOWTZ DERIHK %, % ZRD Ko
B 7.12. ROEXTEDHND x,y DIERE u, v IZDOWTEOREREZ KD K,
(1) 22+ +u*+0? =ad?, z+ytutv=> (2) 2yt H+uP+0? =d?, 2® P+’ = 202+ 2ay

Ax,y,2)" " O(r,0,¢)
1) u=a*49y>+2% v=as+y+z w=ay+yz+z2z

M 7.13. XoBBoYar 7y (1) ZRD K,

(2) x=rsinfcosp, y=rsinfsiny, z=rcosfd



